Starburst 6 Grade 4 Order of Operations
Name:

Teacher:

25 Points total. Each answer is worth 1 point.

Use the correct order of operations to solve the problems.

23 =4 x 2 21 -8+ 10 = 12+(2+2)
15 23 3
12-(4 x2) 24 (4 + 2) 12x8+ 10
% 4 106
8=T7+10 = (4 <8)<2 12 (14 +7)

11 16

252



1.14-21+7=( 11

2.9+15+3=

3. 10-81+9=

4. 5x3+4=

true.

6. 4x2+4=

7. 2X5-7=

8. 8-2x2=

9. 24-18+3=

Cut out the
numbers on the
next page, and
then paste the
correct number in
the box to make
each equation

12




